
qm=

;++
cfof]hgfsf] gfd

cfof]hgf 

:yn

cg'dfgLt 

nfut
s}lkmot

                   s[lif ljsf;

1 vh'/uf5L jhf/df s[lif 6x/f lgdf{0f j8f g+= ^ 400000

2 s[lif ljsf; sfo{qmd j8f g+= ^ 1000000

               ko{6g tyf ;:s[lt

1 ;"o{ gf/fo0f 56L d}of dlGb/ lgdf{0f j8f g+= ^ 100000

2 b]jLu+h b'uf{ dlGb/ dd{t j8f g+= ^ 100000

3 8f}jfjf/L dxf/fh yfg lgdf{0f j8f g+= ^ 50000

4 j8f sfof{no ejg cuf8L dxf/fh yfg lgdf{0f j8f g+= ^ 50000

5 uf}/Lof8fuL cuf8L dxf/fh yfg lgdf{0f j8f g+= ^ 50000

6 b]jLu+h ;T;+u dlGb/ ghLs dxf/fh yfg lgdf{0f j8f g+= ^ 50000

7 ;f=^÷& g+ lar dxf/fh yfgdf pm+ zflGt 6|i6 lgdf{0f j8f g+= ^ 200000

8 ;Gtf]ifLdftf dlGb/ lgdf{0f j8f g+= ^ 100000

9 cf7df}hf sj/:yfg 3]/fj]/f j8f g+= ^ 100000

10 cf7df}hf dl:hb 3]/fa]/f j8f g+= ^ 100000

11 b]lju+u blIf0f 6f]n dxf/fhyfg lgdf{0f j8f g+= ^ 50000

        vfg]kfgL tyf ;/;kmfO{

1 vfg]kfgL 6\o"j]n v/Lb j8f g+= ^ 135000

      n}+lus ;dfgtf tyf ;fdflhs ;dfj]zLs/)f

1 dlxnf nIfLt of]hgf j8f g+= ^ 128000

2 jfnjflnsf nIfLt of]hgf j8f g+= ^ 128000

3 cflbjf;L hghftL nIfLt of]hgf j8f g+= ^ 96000

4 bnLt nIfLt of]hgf j8f g+= ^ 64000

5 h]i7 gfu/Ls nIfLt of]hgf j8f g+= ^ 64000

6 cfkfËnIfLt of]hgf j8f g+= ^ 64000

7 dw]zL d':nLd nIfLt of]hgf j8f g+= ^ 96000

           ;8s tyf k'n

1

;"o{ nfn dflemsf] 3/ b]lv wfw/f vf]nf ;Dd ;8s u|fe]n 

lgdf{0f j8f g+= ^ 600000

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

6 g+= j*f sfof{no

j*f:t/Lo sfo{qmd



qm=

;++
cfof]hgfsf] gfd

cfof]hgf 

:yn

cg'dfgLt 

nfut
s}lkmot

                   s[lif ljsf;

uf}/Lu+h ufp+kflnsf 

ufp+ sfo{kflnsfsf] sfof{no

6 g+= j*f sfof{no

j*f:t/Lo sfo{qmd

2

/fh]Gb| rf}w/L sf] sf6f b]lv uof k|= /fha+zlsf] 3/ x'b} >L 

k|= /fha+zLsf] 3/ ;Dd ;8s :t/f]GgtL lgdf{0f j8f g+= ^ 250000

4

8f}jf jf/L e}/j a= sfls{sf]3/ pQ/ axfb'/ ofbjsf] 3/ x'b} 

rGb| ofbjsf] 3/ ;Dd ;8s u|fe]n lgdf{0f j8f g+= ^ 125000

5

jfuwg /fO{sf] 3/ pQ/ klzrd lrGtf dflemsf] 3/ ;Dd 

;8s :t/f]GgtL lgdf{0f j8f g+= ^ 300000

6

8f}jfjf/L s[i0f /fha+zLsf] 3/ klZrd jf]3 /fh ofbjsf] 3/ 

;Dd ;8s u|fe]n lgdf{0f j8f g+= ^ 50000

7 kmf?s ;/sf] 3/ hfg] ;8s u|fe]n lgdf{0f j8f g+= ^ 100000

8

/fd a= /fO{sf] 3/ b]lv klZrd /fd rGb| vf]nf ;Dd ;8s 

u|fe]n lgdf{0f j8f g+= ^ 100000

9 ;'O{of vf]nf k'n dd{t sfo{ j8f g+= ^ 150000

10

u|Lid /fO{sf] 3/ b]lv klZrd pQ/ ;8s u|fe]n lgdf{0f -

lai6 sfdt_ j8f g+= ^ 200000

11 efuL/y 3/ b]lv gof j:tL ;Dd ;8s u|fe]n lgdf{0f j8f g+= ^ 300000

12 xo"d kfO{k v/Lb j8f g+= ^ 450000

                    cGo lgdf{0f

1 uf}/Lof8fuL d;fg 3f6 lgdf{0f j8f g+= ^ 100000

                     jftfj/0f

1 k"0f{ ;/;kmfO{ j8f g+= ^ 100000

2 ;fj{hlgs zf}rfno lgdf{0f j8f g+= ^ 250000

3 8f}jf jf/L kf]v/L ;+/If0f j8f g+= ^ 100000

                ;+:yfut ljsf;

1 cjnf]sg e|d0f j8f g+= ^ 100000

hDdf 6400000


